

# KARACHI WATER & SEWERAGE BOARD

#### OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

#### BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.34671 I.D No
3	Tender Description/Name of Work/Item:	PROVIDING & FIXING OF 12" DIA, 10" DIA, 8" DIA, 6" DIA AND 4" SLUICE VALVE INCLUDING REPAIRING OF DIFFERENT SIZE SPINDLE AND REPAIR OF 18" DIA & 12" DIA HEAVY WATER LEAKAGES IN UC NO.05 AND 06, MEHMOODABAD NO.05 AND REHMAN COLONY FOR IMPROVEMENT OF WATER SUPPLY IN JAMSHED TOWN
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	<u>3 Nos</u>
7	Total Bid Received:	3 Nos
8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	26-10-2017

12 BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARISON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1	M/s.Behzad Enterprises	Rs.9,59,550/-	1 <sup>st</sup> Lowest	@0.029% Below	Pay Order and required documents are available. P.O # 18319114 dt:07-06-2017 Rs.13,700/- from HBL KDA Civic Centre Branch Karachi & P.O # 18497249 dt: 24-10-2017 Rs.5,500/-from HBL Gulistan-e-Jauhar Branch Karachi Total Rs.19,200/-	Substantially Responsive
2	M/s.Ghulam Nabi Babar & Brothers	Rs.9,60,325/-	2 <sup>nd</sup> Lowest	@0.051% Above	Pay Order and required documents are available. P.O # 18497152 dt:12-10-2017 Rs.20,200/- from HBL Gulistan-e-Jauhar Branch Karachi	Substantially Responsive
3	M/s.N.K Builders	Rs.9,60,413/-	3 <sup>rd</sup> Lowest	@0.061% Above	Pay Order and required documents are available. P.O # 17926420 dt:21-06-2017 Rs.20,880/-from HBL Karsaz Branch Karachi	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.Behzad Enterprises declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Muhammad Nawaz Khan) D.A.O (District East) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh)
Superintending Engineer (KMC)
Member

(Roshin Din Memon) S.E (District East-A) Member

(Saleem Ahined)
Director (Design & Estimate)

Convener

### **COMPARATIVE STATEMENT**

Name of Work: PROVIDING & FIXING OF 12" DIA, 10" DIA, 8" DIA, 6" DIA AND 4" SLUICE VALVE INCLUDING REPAIRING OF DIFFERENT SIZE SPINDLE AND REPAIR OF 18" DIA & 12" DIA HEAVY WATER LEAKAGES IN UC NO.05 AND 06, MEHMOODABAD NO.05 AND REHMAN COLONY FOR IMPROVEMENT OF WATER SUPPLY IN JAMSHED TOWN

Item	Description of Work	Estimated Cost					M/s.Behzad Enterprises		M/s.Ghulam Nabi Babar & Bros.		M/s.N.K Builders	
No	7/9/	Qua	ntity	Rate	Per	Amount	Rate	Amount	Rate	Amount	Rate	Amount
1	Providing C.I Sluice Valve heavy pattern (Test Pressure 21.0 Kg/sq.com or 300 lb/sq.inch) (Imported). 12" Dia	2.00	Nos	78000.00	Each	156,000.00	78000.00	156,000.00	78039.00	156,078.00	78047.00	156,094.00
	10" Dia	3.00	Nos	27690.00	Each	83,070.00	27700.00	83,100.00	27704.00	83,112.00	27707.00	83,121.00
	08" Dia	6.00	Nos	17940.00	Each	107,640.00	17900.00	107,400.00	17949.00	107,694.00	17951.00	107,706.00
	06" Dia	6.00	Nos	9360.00	Each	56,160.00	9360.00	56,160.00	9365.00	56,190.00	9366.00	56,196.00
	04" Dia	7.00	Nos	5460.00	Each	38,220.00	5460.00	38,220.00	5463.00	38,241.00	5463.00	38,241.00
2	Fixing of sluice valve with 2 cast iron tail pieces one end flanged & other with socket i/c the cost of nut, bolts & rubber packing, labour etc complete.  12" Dia	2.00	Nos	3821.00	Each	7,642.00	3810.00	7.620.00	3823.00	7,646.00	3823.00	7,646.00
	10" Dia	3.00	Nos	3319.00	Each	9,957.00	3300.00	9,900.00	3321.00	9,963.00	3321.00	9,963.00
	08" Dia	6.00	Nos	2790.00	Each	16,740.00	2800.00	16,800.00	2791.00	16,746.00	2792.00	16,752.00
	06" Dia	6.00	Nos	1886.00	Each	11,316.00	1900.00	11,400.00	1887.00	11,322.00	1887.00	11,322.00
	04" Dia	7.00	Nos	1532.00	Each	10,724.00	1500.00	10,500.00	1533.00	10,731.00	1533.00	10,731.00
3	Repair of spindle by manufacturing S.Steel spindle gun metal i/c nut & bolts rubber packing etc. 12" Dia	3.00	Nos	7843.00	Each	23,529.00	7850.00	23,550.00	7847.00	23,541.00	7848.00	23,544.00
	10" Dia	2.00	Nos	7843.00	Each	15,686.00	7850.00	15,700.00	7847.00	15,694.00	7848.00	15,696.00
	8" Dia	4.00	Nos	5418.00	Each	21,672.00	5400.00	21,600.00	5421.00	21,684.00	5421.00	21,684.00
	6" Dia	4.00	Nos	2793.00	Each	11,172.00	2800.00	11,200.00	2794.00	11,176.00	2795.00	11,180.00
	04" Dia	7.00	Nos	2254.00	Each	15,778.00	2300.00	16,100.00	2255.00	15,785.00	2255.00	15,785.00

27/th

Sant T

Leyner.

# Name of Work: PROVIDING & FIXING OF 12" DIA, 10" DIA, 8" DIA, 6" DIA AND 4" SLUICE VALVE INCLUDING REPAIRING OF DIFFERENT SIZE SPINDLE AND REPAIR OF 18" DIA & 12" DIA HEAVY WATER LEAKAGES IN UC NO.05 AND 06, MEHMOODABAD NO.05 AND REHMAN COLONY FOR IMPROVEMENT OF WATER SUPPLY IN JAMSHED TOWN

İtem	Description of Work	Estimated Cost						M/s.Behzad Enterprises		M/s.Ghulam Nabi Babar & Bros.		M/s.N.K Builders	
No			ntity	Rate	Per	Amount	Rate	Amount	Rate	Amount	Rate	Amount	
	Full hire charges of pumping set per day i/c of wages of driver and assistant fuel or electric energy platform for placing the pump etc at lower depth with suction and delivery pipes for pumping out water found at various depth from trenches including the cost of erection and dismantling after completion of the job. Hire charges of pumping set upto 10 HP pumping out water from 10 ft deep												
	trench		Days	1500.00	P/Day	54,000.00	1500.00	54,000.00	1501.00	54,036.00	1501.00	54,036.00	
	Repair of leaking joints (External vatta) on PRCC pipe i/c excavation, labour, sealing material, gunny bags, de-watering andrefillingthe excavated stuff etc complete. 18" dia		No	13841.00	Each	110,728.00	13800.00	110,400.00	13848.00	110,784.00	13849.00	110,792.00	
	12" Dia	7.00	No	9716.00	Each	68,012.00	9700.00	67,900.00	9721.00	68,047.00	9722.00	68,054.00	
	Construction of Block Masonry chamber with 24"x24" C.I Cover and frame weight 65 Kg fix in RCC 1:2:4 slab 6" thick with steel 1/2" dia tor main bars @6" C/C bentup 1/4" dia 8" C.C distribution bars B/M wall set 1:6 cm 6" thick C.C 1:4:8 in foundation 2" thick CC 1:2;4 flooring 1/2" thick 1-0 to al in side wall surfaced top & bottom slab outer side wall surface 1-0 deep upto roof slab i/c M.S footrest 5/8" dia bars at every 2-0 deep i/c curing dewatering excavation refilling & disposal of surplus												
	of earth etc complete. Chamber size 4'x4'x4'	5.00	Nos	28357.00	Each	141,785.00	28400.00	142,000.00	28371.00	141,855.00	28374.00	141,870.00	
	TOTAL QUOTED / CORRECTED COST					959,831		959,550		960,325		960,413	

(Muhammad Nawaz Khan) D.A.O (Distt. East) Member / Secretary

(Saif-ul-Maque) Addl. Director Internal Audit KMC - Member (Maqsood Ahmed Shaikh) Superintending Engineer (K.M.C) Member (Roshin Din Memon) S.E (District East-A) Member

(Saleem Ahmyd) 7 Director (Design & Estimate) Convener

# NIT No. SPPRA Serial No. 34671

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

PROVIDING & FIXING OF 12" DIA, 10" DIA, 8" DIA, 6" DIA AND 4" SLUICE VALVE INCLUDING REPAIRING OF DIFFERENT SIZE SPINDLE AND REPAIR OF 18" DIA & 12" DIA HEAVY WATER LEAKAGES IN UC NO.05 AND 06, MEHMOODABAD NO.05 AND REHMAN COLONY FOR IMPROVEMENT OF WATER SUPPLY IN

JAMSHED TOWN

Date of Opening:

26-10-2017

#### BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.		Bidders' Name					
S. No.	Eligibility / Qualification Criteria	M/s.Behzad Enterprises	M/s.Ghulam Nabi Babar & Bros.	M/s.N.K Builders			
1.	Registration with PEC (if applicable)	N/A	N/A	N/A			
2.	NTN	Yes	Yes	Yes			
3.	Sales Tax Registration (FBR)	N/A	N/A	N/A			
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes	Yes			
	Qualification Criteria:						
5.	Minimum three years' experience of relevant field.	Yes	Yes	Yes			
6.	Turnover of at least last three years	Yes	Yes	Yes			
7.	Required Bid Security is attached.	Yes	Yes	Yes			
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes	Yes			
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A	N/A			
10.	Qualified/ disqualified	Qualified	Qualified	Qualified			

(Muhammad Nawaz Khan) D.A.O (District East)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsodd Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Roshin Din Memon) S.E (District East-A) Member

Director (Design & Estimate)

Convener

## NIT No. SPPRA Serial No. 34671

Method of Procurement: Sin

Single Stage Single Envelope.

Name of Work:

PROVIDING & FIXING OF 12" DIA, 10" DIA, 8" DIA, 6" DIA AND 4"
SLUICE VALVE INCLUDING REPAIRING OF DIFFERENT SIZE
SPINDLE AND REPAIR OF 18" DIA & 12" DIA HEAVY WATER
LEAKAGES IN UC NO.05 AND 06, MEHMOODABAD NO.05 AND
REHMAN COLONY FOR IMPROVEMENT OF WATER SUPPLY IN

JAMSHED TOWN

#### MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 26-10-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders. (Attendance sheet is enclosed).

- 2. Three bidders submitted their bids till the deadline of submission.
  - i. M/s. Behzad Enterprises
  - ii. M/s. Ghulam Nabi Babar & Brothers
  - iii. M/s. N.K Builders
- 3. The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
01	M/s.Behzad Enterprises	Rs.9,59,550/-	Rs.19,200/-	P.O # 18319114 dt:07-06-2017 Rs.13,700/- from HBL KDA Civic Centre Branch Karachi & P.O # 18497249 dt: 24-10-2017 Rs.5,500/-from HBL Gulistan-e-Jauhar Branch Karachi
02	M/s.Ghulam Nabi Babar & Brothers	Rs.9,60,311/-	Rs.20,200/-	P.O # 18497152 dt:12-10-2017 from HBL Gulistan-e-Jauhar Branch Karachi
03	M/s.N.K Builders	Rs.9,60,407/-	Rs.20,880/-	P.O # 17926420 dt:21-06-2017 from HBL Karsaz Branch Karachi

- 4. The bids do not contain any cutting or over-writing.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Muhammad Nawaz Khan)

D.A.O (District East) Member / Secretary (Saif-ul-Haque)

Additional Director Internal Audit – KMC Member (Magsood Ahmed Shaikh)

Superintending Engineer (KMC)

Member

(Saleem Ahme Director (Design

sign stimate)

Conve

(Roshin Din Memon) S.E (District East-A) Member

# KARACHI WATER & SEWERAGE BOARD

#### ATTENDANCE SHEET OF CONTRACTORS

NAME OF WORK :- PROVIDING & FIXING OF 12" DIA, 10" DIA, 8" DIA, 6" **DIA & 4" DIA SLUICE VALVE INCLUDING REPAIRING OF** DIFFERENT SIZE SPINDLE AND REPAIR OF 18" DIA & 12" DIA HEAVY WATER LEAKAGES IN UC NO.05 & 06, MEHMOODABAD NO.05 AND REHMAN COLONY FOR IMPROVEMENT OF WATER SUPPLY IN JAMSHED TOWN.

1. Date of Opening & Time :-26-10-2017, At 02.30 Pm.

2. **Estimated Cost:** Rs.9,59,831/=

3. Serial No.: SPPRA SERIAL NO.34671.

SR.NO.	NAME OF FIRM	NAME OF REPRESENTATIVES	SIGNATURE
	Å)	& DESIGNATION	1(/
	REHZAR ENTERPISE		fres
9			يالغ لحاير
(3)	M/s Chulan nul		Palan
	Book & Bercher		
			+ .
	,		